

fun abounds, inc.
114 Venice
Sugar Land, TX. 77478
855-226-8637 phone
281-265-0043 Fax
Leigh Walden, President
lwalden@fabplaygrounds.com
www.fabplaygrounds.com

Estimate				
Date	Estimate #			
3/27/2021	6715			

Payton Palmer-Newton,
Playground Specialist
Coastal Bend
payton@fabplaygrounds.com
361-230-3006

We are pleased to provide this estimate for			Ship to:		
Fort Bend County Parks and Recreation Darren McCarthy					
			Rep	Terms	Project
			PPN	30% deposit requ	Four Corners Park
Item	Description		Qty	Rate	Total
Buyboard Number	Buyboard 592-19			0.00	0.00
Buyboard Number Replacement Playground Equipment for Purple/Yellow Composite Structure an Plastic Structure Burke Burke BCI Burke NUIN-1881 (5-12 year old) BCI Burke NU-2782 (2-5 year old) Installation Freight EWF - Material Only ove EWF - Installation Cost EWF - Installation Cost EWF - Freight Freight (EWF pricing on separate line item) Freight (Truck Load 85 yds) Subtotal of Replacement Playground Equipment for Purple/Yellow Compos Structure; Plastic Structure and Surfaci		le site	140 140 2	52,724.00 37,107.00 21,139.18 5,000.00 20.66614 31.33257 875.00	52,724.00T 37,107.00T 21,139.18 5,000.00T 2,893.26T 4,386.56T 1,750.00T 125,000.00
Thank you for allowing us to submit this proposal.				Subtotal	
PLEASE NOTE: Order will be placed upon receipt of sign purchase order, color selections, and down paym				Sales Tax	(. ,
Thank you! We appreciate the opportunity to earn your business!			Total		
City of Houston	M/DE				

City of Houston WBE
(Women's Business Enterprise)
Certificate #20-2-11596

Signature



fun abounds, inc.
114 Venice
Sugar Land, TX. 77478
855-226-8637 phone
281-265-0043 Fax
Leigh Walden, President
lwalden@fabplaygrounds.com
www.fabplaygrounds.com

Estimate				
Date Estimate #				
3/27/2021	6715			

Payton Palmer-Newton,
Playground Specialist
Coastal Bend
payton@fabplaygrounds.com
361-230-3006

			361-23	0-3006
We are pleased to p	rovide this estimate for	Ship to:		
Fort Bend County Parks and Darren McCarthy	Recreation			
		Rep	Terms	Project
		PPN	30% deposit requ	Four Corners Park
Item	Description	Qty	Rate	Total
Burke	BCI Burke NU-2349 Pirate Ship (2-5 year old)		32,909.00	32,909.00T
Burke	BCI Burke NU-2872 (5-12 year old)		37,337.00	37,337.00T
Installation	Installation		17,804.12	17,804.12
Freight	Freight (firm quote TBD at time of order)		5,000.00	5,000.00T
EWF - Material Only ove	EWF - Material only over 50 yds	100	20.6662	2,066.62T
EWF - Installation Cost	Installation only of EWF and Geotextile (EWF pricing on separate line item)	100	31.3326	3,133.26T
EWF - Freight	Freight (Truck Load 85 yds)	2	875.00	1,750.00T
U	Subtotal of Replacement Playground Equipment Boat Structure; Blue/Red Small Structure; Fitness Equipment			100,000.00
	Replacement Swings and Seats			
Burke	BCI Burke Arch Swing	1	2,520.00	2,520.00T
Burke	BCI Burke Additional Bay for Arch Swing	3	1,693.00	5,079.00T
550-0191	Konnection Swing Seat	1	1,333.00	1,333.00T
550-0172	Freedom Inclusive Seat	1	953.00	953.00T
550-0100	Molded Rubber Tot Seat (pair) chains included	1	354.00	354.00T
Thank you for allowing us to	submit this proposal.		Subtotal	1
	r will be placed upon receipt of sign		Sales Tax	C. .
Thank you! We appreciate the opportunity to earn your business!			Total	
City of Houston	WRF			

City of Houston WBE (Women's Business Enterprise) Certificate #20-2-11596

Signature



fun abounds, inc.
114 Venice
Sugar Land, TX. 77478
855-226-8637 phone
281-265-0043 Fax
Leigh Walden, President
lwalden@fabplaygrounds.com
www.fabplaygrounds.com

Estimate				
Date Estimate #				
3/27/2021	6715			

Payton Palmer-Newton,
Playground Specialist
Coastal Bend
payton@fabplaygrounds.com
361-230-3006

We are pleased to provide this estimate for			Ship to:		
Fort Bend County Parks and Recreation Darren McCarthy					
			Rep	Terms	Project
			PPN	30% deposit requ	Four Corners Park
Item	Description		Qty	Rate	Total
550-0112	8' Molded Rubber Seat - Set of 2 with chains		2	194.005	388.01T
Installation	Installation			3,539.16	3,539.16
Freight	Freight (firm quote TBD at time of order	er)		3,000.00	3,000.00T
EWF - Material Only ove	EWF - Material only over 50 yds		117	20.66615	2,417.94T
EWF - Installation Cost	Installation only of EWF and Geotextile	6	117	31.33256	3,665.91T
EWI - Installation Cost	(EWF pricing on separate line item)	C	117	31.33230	3,003.711
EWIE Engish			2	974.00	1 740 OOT
EWF - Freight	Freight (Truck Load 85 yds)		2	874.99	1,749.98T
	Subtotal of Replacement Swing Set; Surfacing				25,000.00
	Site Prep and Boarder Materials				
APS ADA HALFRAMP	ADA Half Ramp (2 for each play area; 1 for swing area)		5	450.00	2,250.00T
APS-Border12"	12" APS Playground Border with Surfacing Guide and 1 spike (For both play areas and swing area)		212	36.5566	7,750.00T
	Subtotal of Site Prep and Boarder Materials				10,000.00
	Current Surfacing Needs				
Thank you for allowing us to submit this proposal.			<u> </u>	Subtotal	
PLEASE NOTE: Order will be placed upon receipt of signer purchase order, color selections, and down payme				Sales Tax	ζ.,
Thank you! We appreciate the opportunity to earn your business!				Total	
/					

City of Houston WBE (Women's Business Enterprise) Certificate #20-2-11596

Signature



fun abounds, inc.
114 Venice
Sugar Land, TX. 77478
855-226-8637 phone
281-265-0043 Fax
Leigh Walden, President
lwalden@fabplaygrounds.com
www.fabplaygrounds.com

Estimate				
Date	Estimate #			
3/27/2021	6715			

Payton Palmer-Newton,
Playground Specialist
Coastal Bend
payton@fabplaygrounds.com
361-230-3006

We are pleased to provide this estimate for			Ship to:		
Fort Bend County Parks and Recreation Darren McCarthy					
			Rep	Terms	Project
			PPN	30% deposit requ	Four Corners Park
Item	Description		Qty	Rate	Total
Rubber Mulch/Black	Rubber Mulch Black Subtotal of Current Surfacing Needs		65	615.38462	40,000.00T 40,000.00
Note Pricing is for the above listed equipment only, and does not include additional insured addendum, additional insurance, storage, security, or any applicable taxes, bonds, additional insurance or permits. Orders canceled after 5 days will be subject to a restocking fee and freight charges as applicable. Price valid for 30 days.			0.00	0.00T	
Thank you for allowing us to submit this proposal.				Subtotal	
PLEASE NOTE: Order will be placed upon receipt of sign purchase order, color selections, and down payments		me	ent.	Sales Tax	(. .
Thank you! We appreciate the opportunity to earn you			business!	Total	

City of Houston WBE (Women's Business Enterprise) Certificate #20-2-11596

Signature



fun abounds, inc.
114 Venice
Sugar Land, TX. 77478
855-226-8637 phone
281-265-0043 Fax
Leigh Walden, President
lwalden@fabplaygrounds.com
www.fabplaygrounds.com

Estimate				
Date Estimate #				
3/27/2021	6715			

Payton Palmer-Newton,
Playground Specialist
Coastal Bend
payton@fabplaygrounds.com
361-230-3006

We are pleased to provide this estimate for		Ship to:		
Fort Bend County Parks and Darren McCarthy	Recreation			
		Rep	Terms	Project
		PPN	30% deposit requ	Four Corners Park
Item	Description	Qty	Rate	Total
Force Majeure Nondisclosed underground	No Party to this Agreement shall be responsible for any delays or failure to perform any obligation under this Agreement due to acts of God, outbreaks, epidemic/pandemic or the spreading of disease, contagion, strikes, or other disturbances, including, without limitation, war, insurrection, embargoes, governmental restrictions, acts of governments or governmental authorities, and any other cause beyond the control of such party. During an event of force majeure, the Parties' duty to perform obligations shall be re-assessed. We make every effort to ensure that we are working in areas free of utilities. In the event an object is disturbed or damaged and the client has failed to make us aware of their utilities it will be the Client's responsibility.		0.00	0.00 0.00T
Thank you for allowing us to	submit this proposal.		Subtotal	
PLEASE NOTE: Order will be placed upon receipt of sign purchase order, color selections, and down payments			Sales Tax	(. ,
Thank you! We app		Total		
City of Houston	WRF			

City of Houston WBE
(Women's Business Enterprise)
Certificate #20-2-11596

Signature



fun abounds, inc.
114 Venice
Sugar Land, TX. 77478
855-226-8637 phone
281-265-0043 Fax
Leigh Walden, President
lwalden@fabplaygrounds.com
www.fabplaygrounds.com

Estimate				
Date Estimate #				
3/27/2021	6715			

Payton Palmer-Newton,
Playground Specialist
Coastal Bend
payton@fabplaygrounds.com
361-230-3006

We are pleased to provide this estimate for		stimate for		Ship to:		
Fort Bend County Parks and Darren McCarthy	Recreation					
			Ì	Rep	Terms	Project
			Ī	PPN	30% deposit requ	Four Corners Park
Item	D	escription		Qty	Rate	Total
Finance Charge		id within 30 days of the ce are subject to a 1.5%			0.00	0.00T
Credit Cards	Payments made	with credit cards will			0.00	T00.0
HUB Certificate	require an additi Certificate/VID	onal 3.10% service fee.			0.00	0.00T
1364766562200 File/Vendor Number: 496631 Approval Date: 25-MAR-2020 Scheduled Expiration Date: 25-MAR-2024						
Thank you for allowing us to	submit this prop	osal.	•		Subtotal	\$300,000.00
PLEASE NOTE: Order will be placed upon receipt of sign purchase order, color selections, and down payments		me	ent.	Sales Tax	\$0.00	
Thank you! We appreciate the opportunity to earn you		our	business!	Total	\$300,000.00	
(Women's Business Enterprise) Certificate #20-2-11596		Signatur We are proud of a j		well done and	may snotlight you	r project on our
					have your permis	

please notify us. Thank you!